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@ V\:;;teﬁ d;u:n the answer to each of the following- - -
_ (i) —5x4 | i
i B Hilf Z.¢=
(Efii; (-—8)( ol v 69 (vi; (~9)(><8()—4)
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Work out each of these:

(i) —12=+2 (i) 36 ~ (—4) (i) —20=+5

(iv) —15 + (=5) (v) =30+ (—10) (Vi) —24 -8

Write down the answer to each of these:
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4. Find the missing number in each of the following:

(i) 6X| |=—48 (i) —4X| _|=24 i) =5 %[ |= —4(

(iv) =20+ |=—4 (v) 36 = |=—9 i) [ 1= (=7 =~
5. This is a‘multiplication wall.

The number on each brick is found by multiplying the two =

numbers on the bricks below. w7

" What will be the number on the top brick of this wall?




